## Construction division. Advice for giving credit to contractors/suppliers.

No.	- site bills	A <sub>res</sub> and the	1	T	Date ·	site bills		1.11.	
erinter.			1671		Regist		_	W/W	121
	y Name:	ME	ZMIIP		Site:			GMR	
<b>2030</b> 0	f Contractor		Deepak			Š			
interes:	of want		onizeata	mod n/					
out d	CORC	Pro	n Date	101	1.09	To	Date	15.1	124
1. V	Ma/Plat/block no	2	Qty.	Rate		Units	Amou	mt	Contractors bill no
1.	Taindealod	01	7	Бt	0/-	2'011	357	50/-	an Chan de Branch Chan Strain Chan Prince Park To Chan Be Strain Chan
2. 1	ed moon les		Н	4	0/-	11016	16	0/-	
3.	Slett lock		15	1	11-	MO'C	60	001-	Name of the last o
4.	Hilly lock	1	7	-afronesentente	01-	No's		301-	
A STATE OF THE PARTY OF THE PAR	3-103 Kite	and	57.58	-6	AL	SE	Name and Address of the Owner, where the Owner, which is the Owner, where the Owner, which is the Ow	421-	
6.	R-HOILStok	207	57.58	6	A/-	54-	- Commission of the Commission	-47-10	
	3-40812/h	die	57.58	6	5/	51	3.5	the forest and the second	
	12-601 KPL	Mar.	51.58	61	1-	Sto	3.	H11-	
9.	at Rhlo	le	1	-		-	<u> </u>		
10.		Tota	4	+			la	5111-	
II.			YES_INO.		(35T	bill requi	CHARLES STREET, STREET		ONO.
	dirioq				1			IV Encl	
	istement & ate aboet:		Required Not required	1 .		mais shoc		1	enclosed
	7O <b>30</b> .	+	Town or other party or o		PO	WO date:			
Rems	sts: ill.	*	David	-	-11.	a nt	12-	1073	03,305.3
44,000,000	Mile		MERCUT	AIC	101	00 10-	1 / 1	11 01	Ribles
307	, 504,605,		6,406,6	Uh,	101,1	Wil fill	400	at the party was to be the	transcent la casa di construore ministra di contrata d
no menopolitana				Continue engines to p		athem of a both in territory plants			
		MILITANIA AND AND AND AND AND AND AND AND AND AN				MPSM-Selection of special party desired desire			
							sented territorial proper	AND SECURITY OF THE PROPERTY O	
		2.7			d ber Fr	esian Tes	m . 1 A	hevonon/	by M.D.
-	oved by Project	Man	1	The second second	Distribution responses (III)	esign Tea	Distribution of the Assessment	despendent des despendent des despendent des despendent des despendent despen	by M.D.
Appr		Man	1	te:	Distribution responses (III)	esign Tea	1	Approved Date: Sign:	by M.D.

Note: 1. This advice ment be seet within 7 days of completing work, 2. This form can be used in securing amount of the fire charges, early west, tendery civil contractors. 3. Whenver not applicable — fill NA. 4. Entimete and measurement about are not required for markey jobs where guideline rates are clearly given.

TO ITALIA CITETA	71 LL 1				-	
Company Name:	ame:	MRMLLP			Approved by:	RamPrasad
Project:		Gulmohar Residency			Sign:	
Work Description:	iption:	Doors and hardware fixing and Modular kitchen at B-block.				
Contactor Name	vame:	Deepack				
Prepared By	γ	Madhan				
Date:		15.11.2022				
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount
<u></u>	B-block					
1	107,303,305,306,307,504,605,	Maindoors with mortise lock	7.00	No's	500	3500.00
1	106,405,605,101,102,107,604,	Bedroom doors with tubalar locks	4.00	No's	40	160.00
a)	at B-block	Toilet doors with tubalar locks	15.00	No's	40	600.00
		Utilty doors with tubalar locks	7.00	No's	40	280.00
		Pooja doors with tubalar locks	0.00	No's	0	0.00
					Total	4540.00
2 1	2 Modular kitchen					
В	B-103	B-103	57.58	Sft	65	3/42.99
В	B-401	B-401	57.58	Sft	65	3742.99
D I	B-408	B-408	57.58	Sft	65	3742.99
ם פ	B-602)	B-602	57.58	Sft	65	3742.99
-	100				Total	14971.97
-					Grand Total	19511.97

Company Name:		MRMLLP				Approved by:	Ramprasad	
Project:		Gulmohar Residency				Sign:		
Work Description:		Doors and hardware fixing and Modular kitchen at B-block.	ock.					
Prepared By		Madhan						
Contractor Name:		Deepack						
Date:		15.11.2022						
			Þ	<b>B</b>	С	D	E=AxBxCxD	-
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units
1	B-block							
	107,303,305,306,307,504,605,	Maindoors with mortise lock	1.00	1.00	1.00	7.00	7.00	No's
	106,405,605,101,102,107,604,	Bedroom doors with tubalar locks	1.00	1.00	1.00	4.00	4.00	No's
	at B-block	Toilet doors with tubalar locks	1.00	1.00	1.00	15.00	15.00	No's
		Utilty doors with tubalar locks	1.00	1.00	1.00	7.00	7.00	No's
		Pooja doors with tubalar locks	1.00	1.00	1.00	0.00	0.00	No's
2	Modular kitchen							
	B-103	B-103	10.75	1.00	3.83	1.00	41.17	Sft
			3.91	1.00	2.66	1.00	10.40	Sft
			2.58	1.00	2.33	1.00	6.01	Sft
						Total	57.58	Sft
	B-401	B-401	10.75	1.00	3.83	1.00	41.17	Sft
			3.91	1.00	2.66	1.00	10.40	Sft
			2.58	1.00	2.33	1.00	6.01	Sft
						Total	57.58	Sft
	B-408	B-408	10.75	1.00	3.83	1.00	41.17	Sft
			3.91	1.00	2.66	1.00	10.40	Sft
			2.58	1.00	2.33	1.00	6.01	Sft
						Total	57.58	Sft
	B-602	B-602	10.75		3.83	1.00	41.17	Sft
			3.91	1.00	2.66	1.00	10.40	Sft
			2.58	8 1.00	2.33	1.00	6.01	Sft
				_		Total	57.58	Sft

## Allowance for Consumables

Deepak, Mallapur, Hyd.

Date: 15.11.2022

In favor of:

**MRMLLP** 

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Doors, locks and Modular kitchen work done at B-block.

**Towards:** 

Bill for Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards Doors, lock repairing, replacing and modular kitchen fixing work done at B-block.	Rs.3,902/-
	Total Amount = 19,511/-	
	Work done from date: 01.09.2022 to 15.11.2022.	

Amount in words: Three Thousand Nine Hundred and two Rupees only.

Sign: Telle

## **Bill for Labour Charges**

Deepak, Mallapur, Hyd.

Date: 15.11.2022

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Doors, locks and Modular kitchen work done at B-block.

**Towards:** 

Bill for Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards Doors, lock	
	repairing, replacing and modular kitchen fixing work	Rs.7,804/-
	done at B-block.	
	Total Amount = 19,511/-	
	Work done from date: 01.09.2022 to 15.11.2022.	

Amount in words: Seven Thousand Eight Hundred and Four Rupees only.

Sign: Tokale

## Bill for Equipment Allowance

Deepak, Mallapur, Hyd.

Date: 15.11.2022

In favor of:

**MRMLLP** 

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Doors, locks and Modular kitchen work done at B-block.

**Towards:** 

Bill for Equipment Allowance

S No.	Description	Amount
1.	Brief description of work done: Towards Doors, lock repairing, replacing and modular kitchen fixing work done at B-block.  Total Amount = 19,511/-	Rs.7,804/-
	Work done from date : 01.09.2022 to 15.11.2022.	

Amount in words: Seven Thousand Eight Hundred and Four Rupees only.

Sign: